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1 ~2 | 13168 100 | 10000  1.00 - - 1318 261
2 ~3 |[13579 100 | 10000 1.00 - - 1318 261
3 ~4 |[13579 100 | 10000 1.00 - - 1335 264
4 ~5 - - - - - - - -
5 ~6 | 12421 100 | 10000 1.00 - - 1353 268
6 ~7 | 13492 100 | 10000 1.00 - - 1353 268
7 ~8 | 13494 100 | 10000  1.00 - - 1277 | 253
8 ~ 9 - - - - - - - -
9 ~ 10 | 13715 100 | 10000  1.00 - - 1329 263
10 ~ 11 | 13715 100 | 100.00  1.00 - - 1329 263
11 ~ 12 | 13052 100 | 100.00  1.00 - - 1184 234
12 ~ 13 | 12195 100 | 10000  1.00 - - 1184 234
13 ~ 14 - - 100.00 = 1.00 - - 1242 246
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